MMR.20086-1

Tailgate Tahle Storage Lock Box

(1) Contents:

&
®
s CENTER PUNCH AND DRILL TO 8.5 MM

P o P S )
IS
P RS AA S St
¥ e e
SSRGS
SXAISZES A SN

Net




Qty | Part Name Size(mm) Picture
4 Button Head Socket Cap Bolts Screws M6*20
4 Flat Washer M6*20*1.5 °
4 Rivet Nut M6 m
1 Key
(2] Tools required:

C 4mm Hex Bit Socket;

b. 9.2-9.5mm Drill Bit & 6mm
Rivet Nut Tool;
c. Electrical Drill;

d. Masking Tape;

\_

/




(3] Installation time:
About 1 hour, 2-3 people may be needed. Installation time may differ

according to your mechanical skill level.
(PLEASE VERIFY ALL PARTS ARE PRESENT AND READ INSTRUCTIONS
CAREFULLY BEFORE STARTING INSTALLATION!)

To view the electronic version (MMR..20086-1), please scan the QR code.




Step 2: Unpack the product, take out the positioning paper from the package,
place the positioning paper in the middle, facing downward (as long as it

does not affect the closing of the tailgate after installation). Fix it with

masking tape.

Step 3: First use an 9.2-9.5mm drill bit to drill the four holes marked on the

positioning paper, and use a 6mm rivet nut tool to dive into the rivet nut.




Step 4: Lift the storage box and install it into the tailgate using M6*20 screws

(The two lower screw holes do not need to be used).




Step 5: If you need to use a net, you can insert the hooks into the internal

circular holes.

Step 6:
The installation is complete. We hope you enjoy a wonderful off-road life

with this quality Hooke Road product!




Attention:

1.The product parts in this instruction may differ slightly from the
actual product contents hut generally does not affect the installation
of the product.

2.Please feel free to contact your distributor if you have any kind
of question about your purchase.

Google Hooke Road to find your parts.

Feel Free To Share Your Vehicle @HookeRoad4x4
With The Hashtag #hookeroad If You'd Like ‘ G f J




